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¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

(Academic) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/School Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 15 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 15 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 

lEcU/k esa dksbZ HklEcU/k esa dksbZ HklEcU/k esa dksbZ HklEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAh nkok Lohdkj ugha fd;k tk;sxkAh nkok Lohdkj ugha fd;k tk;sxkAh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh izlHkh izlHkh izlHkh iz'u vfuok;Z gSaA'u vfuok;Z gSaA'u vfuok;Z gSaA'u vfuok;Z gSaA    

        All questions are compulsory.    

    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B iz'u ¼,d 'kCn@fjDr LFkkuksa dh iwfrZ@cgqfodYih; 

iz'u@gk¡@ugha½ gSaA izR;sd iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective type questions (One word/Fill in 

blanks/Multiple Choice Question/Yes/No). Each question is of 1 mark. Write 

correct answer in your answer-book. 

   [ bfrgklbfrgklbfrgklbfrgkl    ] 

[ HISTORY ]    

1. bVyh ds xqIr lekt ^;ax bVyh* dh LFkkiuk dh Fkh \ 1 

(A) xSjhckWYMh (B) dkowj 

(C) esfRluh (D) foDVj besuqvy II 

'Young Italy', the secret society of Italy, was set up by : 

(A) Garibaldi (B) Cavour 

(C) Mazzini (D) Victor Emmanuel II 
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2. vk¡[kksa ij iV~Vh ca/kh efgyk ds gkFk esa idM+k rjktw fdldk izrhd Fkk \ 1 

(A) lekurk (B) LorU=rk 

(C) U;k;  (D) 'kkafr 

What does a blind-folded woman carrying a pair of weighing scales, symbolize ? 

(A) Equality (B) Liberty 

(C) Justice (D) Peace 

3. ikWdsV ds vkdkj dh iqLrdsa ftUgsa Qsjh okys csprs Fks % 1 

(A) pSicqDl  

(B) lLrh iqLrdsa 

(C) 'kCndks'k  

(D) okf"kZd dSysaMj 

Pocket size books that are sold by travelling pedlars : 

(A) Chapbooks  

(B) Cheap books 

(C) Dictionary  

(D) Almanac 
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4. ^fgan Lojkt* iqLrd dk ys[kd dkSu Fkk \ 1 

Who was the writer of the book 'Hind Swaraj' ? 

5. dkxt dh [kkst ------------- esa gqbZA 1 

The paper was invented in …………. . 

[    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ] 

[ POLITICAL SCIENCE ]    

6. csfYt;e esa fdl tkrh; lewg dh lcls cM+h vkcknh gS \ 1 

(A) oSywu  (B) ¶ysfe'k 

(C) teZu  (D) eqfLye 

Which of the following ethnic groups in Belgium has the largest population ? 

(A) Walloon (B) Flemish 

(C) German (D) Muslims 

7. cgqla[;dokn ds fl)kar ds dkj.k -------------- esa x̀g ;q) gqvkA 1 

(A) Jhyadk (B) Hkkjr 

(C) csfYt;e (D) fczVsu 
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The principle of majoritarianism led to a Civil War in …………. . 

(A) Sri Lanka (B) India 

(C) Belgium (D) Britain 

8. fuEufyf[kr esa ls dkSu&lk ns'k ^lkFk ysdj pyus okys la?k* dk mnkgj.k gS \ 1 

(A) Jhyadk (B) Hkkjr 

(C) ikfdLrku (D) vesfjdk 

Which of the following countries is an example of 'Holding Together Federation' ? 

(A) Sri Lanka (B) India 

(C) Pakistan (D) USA 

9. jkT; iquxZBu vk;ksx fjiksVZ dks dc ykxw fd;k x;k \ 1 

(A) 1 uoEcj] 1951 (B) 1 uoEcj] 1956 

(C) 1 uoEcj] 1957 (D) 1 uoEcj] 1966 

In which year State Reorganization Commission Report was implemented ? 

(A) 1st November, 1951 (B) 1st November, 1956 

(C) 1st November, 1957 (D) 1st November, 1966 
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10. buesa ls dkSu cgqtu lekt ikVhZ dk laLFkkid gS \ 1 

(A) dka'khjke  

(B) lkgw egkjkt 

(C) ch0 vkj0 vEcsMdj  

(D) T;ksfrck Qqys 

Which among the following is the founder of the Bahujan Samaj Party ? 

(A) Kanshi Ram  

(B) Sahu Maharaj 

(C) B. R. Ambedkar  

(D) Jyotiba Phule 

11. Hkkjrh; lafo/kku us ------------ Lrjh; 'kklu O;oLFkk dk izko/kku fd;k gSA 1 

(A) nks  (B) rhu 

(C) pkj  (D) ik¡p 

Indian Constitution provides for a …………..tier of government. 

(A) Two  (B) Three 

(C) Four  (D) Five 
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12. fo'o ds vf/kdka'k ns'kksa esa dkSu&lh 'kklu iz.kkyh ikbZ tkrh gS \ 1 

(A) yksdra= (B) jktra= 

(C) vYira= (D) rkuk'kkgh 

Which type of government exists in the World ? 

(A) Democracy (B) Monarchy 

(C) Oligarchy (D) Dictatorship 

13. gfj;k.kk dk izkarh; ny dkSu&lk gS \ 1 

What is the regional party of Haryana ? 

14. ,d yksdrkaf=d ljdkj fdlds izfr mÙkjnk;h gksrh gS \ 1 

A democratic government is responsible to whom ? 

15. csfYt;e dh jkt/kkuh dgk¡ gS \ 1 

Where is the capital of Belgium ? 

16. orZeku esa Hkkjr esa jk"Vªh; jktuhfrd nyksa dh la[;k fdruh gS \ 1 

How many national parties are there in India at present ? 
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17. dbZ xzke iapk;rksa dks feykdj -------------- dk xBu gksrk gSA 1 

A few Gram Panchayats are grouped together to form what is usually called     

a ……………. . 

18. pquko yM+us vkSj ljdkj esa lÙkk laHkkyus ds fy, ,dtqV gq, yksxksa ds lewg dks ----------- dgrs gSaA 1 

A group of people who come together to contest elections and hold power in 

the government is called a …………… . 

19. Hkkjrh; lafo/kku esa fdruh Hkk"kkvksa dks vuqlwfpr Hkk"kk dk ntkZ fn;k x;k gS \  1 

How many scheduled languages are recognized by the Indian Constitution ? 

20. Jhyadk dh vkcknh esa bZlkbZ yksxksa dk fgLlk fdrus izfr'kr gS \ 1 

What is the percentage of the Christians in Sri Lanka ? 

[ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] 

[ GEOGRAPHY ]    

21. os lkjs lalk/ku tks futhZo oLrqvksa ls cus gSa] D;k dgykrs gSa \ 1 

All those things which are composed of Non-living things are said to be. 
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22. Hkkjr esa Hkwfe ij fofHkUu izdkj dh Hkw&vkÑfr;ksa esa eSnku Hkw&{ks= fdrus izfr'kr gS \ 1 

In India land under a variety of relief features, about how much land area is 

plains ? 

23. jsxj feV~Vh dk nwljk uke D;k gS \ 1 

(A) ySVsjkbV feV~Vh (B) dkyh feV~Vh 

(C) tyks<+ feV~Vh (D) yo.kh; feV~Vh 

What is the second name of 'REGUR' soil known ? 

(A) Laterite soil (B) Black soil 

(C) Alluvial soil (D) Saline soil 

24. iatkc esa Hkwfe fuEuhdj.k dk fuEufyf[kr esa ls eq[; dkj.k D;k gS \ 1 

(A) xgu [ksrh (B) ouksUewyu 

(C) vf/kd flapkbZ (D) vfri'kqpkj.k 

Which one of the following is the main cause of land degradation in Punjab ? 

(A) Intensive cultivation (B) Deforestation 

(C) Over irrigation (D) Over grazing 
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25. buesa ls dkSu&lh ,d Qyhnkj Qly gS \ 1 

(A) nkysa  (B) Tokj 

(C) eksVs vukt (D) fry 

Which one of the following is a leguminous crop ? 

(A) Pulses (B) Jowar 

(C) Millets (D) Sesame 

26. 2010-2013 esa izkÑfrd jcM+ ds mRiknu esa Hkkjr dk dkSu&lk LFkku gS \ 1 

(A) nwljk  (B) ik¡pok 

(C) pkSFkk  (D) NBk 

In 2010-2013 what is the Ranking of India in Worlds Production of Natural 

Rubber ? 

(A) Second (B) Fifth 

(C) Fourth (D) Sixth 

27. fuEufyf[kr esa ls dkSu&lk uxj Hkkjr dh bysDVªkWfud jkt/kkuh gS \ 1 

(A) eqEcbZ  (B) dksydkrk 

(C) iq.ks  (D) csaxyq: 
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Which one of the following town is the electronic capital of India ? 

(A) Mumbai (B) Kolkata 

(C) Pune (D) Bengaluru 

28. dkSu&lk vUr%LFkyh; unh; iÙku gS \ 1 

(A) dkaMyk  (B) eqEcbZ 

(C) dksydkrk (D) dksphu 

Which is a riverine port ?  

(A) Kandla (B) Mumbai 

(C) Kolkata (D) Cochin 

29. fuEufyf[kr esa ls ifjogu dk dkSu&lk lk/ku ogukarj gkfu;ksa rFkk nsjh dks ?kVkrk gS \ 1 

(A) jsy ifjogu (B) lM+d ifjogu 

(C) ikbi ykbu (D) ty ifjogu 

Which mode of transportation reduces trans-shipment losses and delays ? 

(A) Railways (B) Roadways 

(C) Pipelines (D) Waterways 
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30. fHkykbZ bLikr dkj[kkuk fdl jkT; esa fLFkr gS \ 1 

In which state Bhilai Steel Plant is located ? 

31. D;k igyk lhesUV m|ksx 1904 esa psUubZ esa yxk;k x;k Fkk \ ¼gk¡@ugha½¼gk¡@ugha½¼gk¡@ugha½¼gk¡@ugha½   1 

Does the first Cement industry established in 1904 at Chennai ? (Yes/No) 

32. fuEu esa dkSu&lk m|ksx pwuk iRFkj dks dPps eky ds :i esa iz;qDr djrk gS \ 1 

(A) ,Y;qehfu;e (B) lhesaV 

(C) phuh  (D) iVlu 

Which of the following industries uses limestone as a raw material ? 

(A) Aluminium (B) Cement 

(C) Sugar (D) Jute 

33. ^rwrhdksfju iÙku* fuEu esa ls dgk¡ ij gS \ 1 

(A) rfeyukMq (B) vle 

(C) mM+hlk  (D) egkjk"Vª 
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'Tuticorin Port' is at which place out of the following ? 

(A) Tamil Nadu (B) Assam 

(C) Orissa (D) Maharashtra 

34. D;k psUubZ gekjs ns'k dk izkphure iÙku gS \ ¼¼¼¼gk¡@ughagk¡@ughagk¡@ughagk¡@ugha ½   1 

Is Chennai one of the Oldest Port of India ?   (Yes/No) 

35. nks ns'kksa ds e/; O;kikj D;k dgykrk gS \ 1 

What we call a trade between two countries ? 

[ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ] 

[ ECONOMICS ]    

 

36. _.k ds vukSipkfjd òksrksa esa 'kkfey ughaughaughaugha  gS % 1 

(A) O;kikjh  

(B) lkgwdkj 

(C) lEcU/kh@fe=  

(D) lgdkjh lfefr;k¡ 
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Which of the following is not included in the informal source of credit ? 

(A) Traders  

(B) Money-lenders 

(C) Relatives/Friends  

(D) Cooperative Societies 

37. lkekU;r% fdlh ns'k dk fodkl fuHkZj djrk gS % 1 

(A) izfr O;fDr vk;  

(B) vkSlr lk{kjrk nj 

(C) yksxksa dh LokLF; fLFkfr  

(D) mijksDr lHkh 

Development of a country is normally depends on : 

(A) Its per capita income  

(B) Its average literacy rate 

(C) Health status of its people  

(D) All of the above 
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38. Hkkjr dh dsUnzh; ljdkj dh vksj ls flDds dkSu tkjh djrk gS \ 1 

Who issues coins on behalf of the Central Govt. of India ? 

39. izfr O;fDr vk; dh x.kuk dk lw= crkb,A 1 

State the formulae for calculation of per capita income. 

40. th0 Mh0 ih0 dk iw.kZ :i fyf[k,A 1 

Write full form of G. D. P. 

 

S 

 


